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nla—b DR N AN DNYPY 0N a,b € Z >3 NI 220 1901 n oY .1.16 N1
a” PNt NIPN a = b (mod n) IRt MO .a = b+ kn-v 10 k € Z 07p M5
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D 92p) (n,m) =1 PN .mjz —y 0N njr — y IN ,MYON NN 0PPRN Y 190N
] (L X Loy = Loy, ©Y DN TONN) .z =y (mod nm) 199 nm|x — y



D WP =2 (modb) onx =1 (mod 3)-v 70 z € Z Nsm .1.20 DN
Ss=—Lt=2n=5m=3mnpna .—1-5+2-3=119,05,3)=1
OPPI PR .2 = 1-(=5)+2-6 =7 AKX 7INIY IWIX MDD NPINYD LIVYN 99
7 =2 (mod 5) on 7=1 (mod 3)

MNXNYN) MBAN NIIYND DY DO MIN 2Y9D INY NXIN 2PDN NPINYD VIYN
00T M>pY SV

THNRI DIND BHYIV DODY R3IY {mg, ..., Mg} KON (10T v ON) 1.21 Vawn
W OVYID DI VMDD M-3 DRV DR VD) (R KID DHIIP3 TODY I 9D WD)
PWINO VD M ANz DN WIRY oMy {a; (modm,) |1 < i <k} mminy
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199 (ab)® = a2 = b? =153 a,b € G 535 DPPIN PN P DN
abab = (ab)> =1=1-1=a%-b* = aabb

22PN b DV 209N PR TN @ DV DN DRNVY TNND YD YMPYN NN 993)
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